
Counting On 
Bonds to 10 

 
 
  
 

Gus Plus has 2 cubes.  He collects 4 more. 
He now has 
 
Gus Plus has 1 cube.  He collects 3 more. 
He now has 
 
Gus Plus has 4 cubes.  He collects 1 more. 
He now has 
 
Gus Plus has 3 cubes.  He collects 3 more. 
He now has 
 
Gus Plus has 4 cubes.  He collects 2 more. 
He now has 
 
2 + 3 =   4 + 4 =   4 + 3 = 
 
1 + 4 =   6 + 2 =   5 + 2 = 
 
2 + 4 =   4 + 5 =   6 + 4 = 

Can you count on in your head to work out these sums?  
You can use a numberline if you need it! 


